
Soustraire des fractions mixtes négatives (A)

Nom: Date: Note:

Calculez chaque différence.

1. (−556) − (−335) =

2. (−115) − (−312) =

3. (−513) − (−412) =

4. (−316) − 415 =

5. (−225) − (−312) =

6. (−345) − (−113) =

7. (−113) − (−445) =

8. (−116) −
3
5 =

9. (−512) − 123 =

10. (−145) − 516 =
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Soustraire des fractions mixtes négatives (A) Réponses

Nom: Date: Note:

Calculez chaque différence.

1. (−556) − (−335) = (−356 ) − (−185 ) = (−17530 ) − (−10830 ) = (−6730) = (−2 730)

2. (−115) − (−312) = (−65) − (−72) = (−1210) − (−3510) = 23
10 = 2 310

3. (−513) − (−412) = (−163 ) − (−92) = (−326 ) − (−276 ) = (−56)

4. (−316) − 415 = (−196 ) −
21
5 = (−9530) −

126
30 = (−22130 ) = (−71130)

5. (−225) − (−312) = (−125 ) − (−72) = (−2410) − (−3510) = 11
10 = 1 110

6. (−345) − (−113) = (−195 ) − (−43) = (−5715) − (−2015) = (−3715) = (−2 715)

7. (−113) − (−445) = (−43) − (−245 ) = (−2015) − (−7215) = 52
15 = 3 715

8. (−116) −
3
5 = (−76) −

3
5 = (−3530) −

18
30 = (−5330) = (−12330)

9. (−512) − 123 = (−112 ) −
5
3 = (−336 ) −

10
6 = (−436 ) = (−716)

10. (−145) − 516 = (−95) −
31
6 = (−5430) −

155
30 = (−20930 ) = (−62930)
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